e, 9] A

® 871 @ 16 7N

® 32 74

360—23X32><50]
wtatA, x o] A%

P ENe
A14E 2, 3, 5°]
v }.




7I2 6cm , A2 9em Q1 AAZH
g 2 AAADE BE

ol

@ 6cm

@ 9cm ® 15cm @180m

® 36cm

6 79 9 ¥

7} et

Hl5:7k ot AAZHg el

rst
rE

o|BZ 18cm




949} 3% Apolol] gl A2

o, a, b9 27

Z Vg AL

rlo

@ a=-1,b=0 @ a=-1,b=2 ©)
@ a=-2,b=2 (@)az—Q,sz’)

a=-2,b=1

1
—2.49F 32 Aelel] 3l A

-2,-1,0,1,2,3°]|22 ¢

L
T

= -2 b=3 0|t}




3 2\ o -
—5) + (—g) = Aasia?
21 11 19 19
@-55 O3 @z Wy
3 2 -6+45-20 19
2 3 30 ~ 30




5. Wl olgatol the A2 A4tshA?

1.97 x (=17) + 1.03 x (~17)

@5 ©o-3 60-17 @-u4 6 -3

B

1.97 x (-17) + 1.03 x (=17)
= (1.97 + 1.03) x (=17)
=3 % (-17)

= -51




)—(-10) J(l)

(2)
(3)

o s

)—(=10)

(~20) X (3)+(=20) x (-£

1 1

2 5
(-10)+(+4)—(—10) —
(+4)+(-10)+(+10)

(=20) X (
(+4)+0

xRN

B ED

(eI B o o
H H W W
I~~~ S~
i G v QR v QR v QR
= O E O’
oW oM oo W
o~ S~ S~ S~
T OED ED
G -
W ™ oW M




&4 ke A
2o el A Aetgle] 2 471 At
OEEHEEEE FOEANEEEL
® Al e Ho] Ahs et
@)00] ohy 345 008 w4 ool
® 0] ok Al % o]4Fe] Bl Tl ] H4o] A4t
22 Aolw oxrt 2t
@ $37t 02 F 459 B 0xrh 2t
@ 0°] obd B % o2 ek A RojsA eth




1014 100717 2] AQA5E Theat Zo] A4 A Aol 54 Fol
Aoz oot

(15 27 3)7 (27 3a 4)5 (37 47 5)a Ty (987 99a 100)

wl, Al 40 gho] 21 9] uj4Q) A W 9 F8elx] Fohu?

@ 12 @ 13 3®)14 @ 15 ® 16

B

HAEot= Al 7He A&

(a-1, a, a+1)(2<a<99)2t 54,
(a=1)+ (a) + (a+1) =(21 9] 8i=)

= 3a = (219 H})

=a= (79 ")

©2<a<99Y 1, 72 vjE= 1474




@ 22x33

@104+1=11 (7H)
@(1+1)x(1+1)=4 (N
® (2+1)x(3+1) =12 ()
@ (1+1)x(2+1)=6 ()
®11+1=12 (7})

77}o) opso] 42 ke ohe Tt 2t




10. o2 5 &4 &2 220

o A

@ 12,10,4 °] FA-FHi4+= 60 o]t
@ 4,5,10 9] HAZu|4= 20 o]t}
® 2,3,6 o] HAFHj4= 6 o]t

@ 12,24,6 o] | ATHj4 24 o]t}
@14, 6,8 ©] FAZH|$L 100 o]}

2X7X3x4=168°]T}.




11. = ze|o] 2Ad4 A, B o] Hgor7t 8, Hagvisrt 120 & o,

o] & 4=9] g9
O 8 @ 15 ® 16 @64 ® 128

~&B

A=8a, B=28b (a, b= AN2A)2 £OH
120=8%x15=8xaxb..axb=15

A, B7} T A9 ZAHdgo| B2

a=3, b=5%=a=05b=30|T}

011_ ot t AL

LASE F =24, 40 0]B2 1 32 64 °|th.




12.

12 36 15 0
=, 2 el ol Bl stel el
STIpas
1 0 100
o ! 3 O

7, 5, 4 °] HAFHS 1 140
12, 36, 15 <] AT ke - 3

webd, Fhe e 1 ol




13. —da+3 9 AYgle] 12 4 W), a O] S BF 12H?

9 15 15 15
D-; @3 -2 @ o=

~&B

—4a + 3 °] Adigto] 120|822
4a+3=12F% 4a+3=-12

—4a+3:12‘£ﬂf41,a=—?l

—4a+3:—12°E]EH,a:%




ol
ofig
Kfo
Ho

ol

0 Xt} At}

T}

o)
T0°

@ ddg>

A
;0._
il
o7

ol

<F
R

o
TN
N oF
of ot
o+ 1+

o] +4 o] AUghHt 2},

® Adigto]

gigho]l 2 471 o At

03 27y 3.

@|-4=4=]+4

® 02 A<

At

=
T

g5gk0] 2L F 7}

F 2

I

’

al

5t




15. thg SAMGNA 2 i F Abo] 9] 7o) AT ), TFS F

=z},

D c=|c @ |c| > |l ®)d < b
@ |c| < |d| ® lal <b

rlo

fijo

B

a=-25 b=+15 c¢=-125 d=+0.75 o]t}
wtA |al = 2.5, |bl = 1.5, |c| =1.25, |d| =0.75 °|t}.
®-125=c#lc|=1.25

@1.25=|c| < lal = 2.5

@ 1.25 = |c| > |d| = 0.75

®25=la>b=15




